af2 3T AT 7 ufeny =y afng-smmﬁ;haﬁmﬁﬁggﬁﬁﬁmmﬁﬂﬁmﬁigﬁa%??

8.
A T ®) =R {yc) fim (D) Ie-afed e
Which direction are you facing now, if you turn l'ztiriegrees clockwise from facing west at the beginning ¢
(A) East B) South @(C} West (D) North-West
= {
9. maﬁqﬁt{aﬂtﬁﬁﬁﬁmﬁﬁuﬁwﬁmmmjﬁﬁﬁm]
F09 [ : oA Fm Ay
FoH 2 T I G H A ey 2
Freed 3 o ot et 3 O .
ST T 8 o P B g OO —
(A Fert e on et ot o v @(Wwﬁﬁ&ﬁmamﬁﬁﬁ%
(C) =ararmn e ffem se Y @ (D) =T a fed T e @
Read the statements and select the correct alternative regarding the conclusion.
Statement | :  Tray plays table tennis. }
Statement 2::  Table tennis is a difficult game. <]
Conclusion : ~ Tray plays a difficult game.
From the a_bm'é statemnents, we can conclude that @
(A) No conclusion can be reached <~IB) The conclusion stated is definitely true
(C) The conclusion stated is definitely false {. (D) The conclusion stated is probably false
10. #Een H TF HEE (A, B}irmzﬁ'rhqaa‘naa-mﬁrﬁmﬂﬁm
Find the missing numbers (A, B) in the series and §fd the value of B+A. @ k\
25,36, 49, A, 81, B, 12]. ®)
\@;91 A L @ 125 (C) 152 (D) 146
1. ﬂﬁﬁ@mﬁﬁﬁﬁaﬁmﬁ@m-?'mﬁxﬁ?@wﬁﬁmﬁ?
Given the pattern in the provided numbers, (,juw would you express the number represented
by *7°?
1,1,9,27,25, 125,7,343 )
(A) 3345 S > (B) 37 : (JCJ 22 @ 49
. Erfefd @ A= A A e 2 <
(A) @ (B) T oy 7w @ frer
Which of the following shapes is different from thediest 7
(A) Square (B) Sphere B Circte (D) Triangle
1, ﬁmiﬁmmmgﬂﬁﬁmqm varg B we ot wl & el w12 @ | Pder W 3w wRen @
AT EE R 7 i
Ay |t (B) =l e
: (D) =&
g?ntiﬂl a woman, Ninnalausﬂ;d. “She is the daughter of the only son of the mother of my sister,™ How
is Nirmala related to the woman
(A) Mother (B) Cousin -l
_(C) ratemal [ R P PR R TS SRS S [-,---{.I?L:Sfftff ........................ .
Wz T age 3 of 24 \ """"""
Neavrefe_ o ¢
]




. ﬁqnﬁﬂﬁ@ﬁqﬂm#ﬁt{aﬂtﬁnﬁlﬁﬂﬂwﬂmwl

6
THEE :' ‘ Tzﬁﬁ“?'m
5 <
N T A —-:];;*ﬁﬁaeﬁfr
Rrer2 o T At T e e T € 2|
(A) 16 ® 22 o (C) 20 (D) 31

Examine the provided diagram and respond to the following question,

— d le
8 O < Employed peop
6 <
{3 _ﬁ}_} Backward people
o
17\3| 4 ,1
A —> Educated people
- M
How many individuals considered backward are nof educated ?
A 16 (®) 22 Q (© 20 @) 31
15, SPTen FE T 7 @) . Gk
What is the next letter ? = ' g
P:Q::T: "
o v (B) P Woo©OrT D) R
16, % s i e 0 @S ¥ of150 Rt aré i g &, o 9 v P i e v
w7 ) P e
(A) Iafem < e g
(C) =lamafeg 7 (D) aﬁ:m.tLai

If you start facing South-West and tum lﬁﬂlxd{]grfﬂs 10 your right, what direction arc you facing now ?
(A) North-West oy (B) North-East
(C) South-West (@) (D) South-East

17. 140 faenfdai % wiapor i arn e 7 60 T e i vremy quz @t &, 70 Framd 7R i deET w6
il ¥, a1 75 foremd] sz 9 WER T F0 | 3w sifafon 30 o RN 3k ISR I O TR §,
18 1 Aifzan 1 s sqyIzEn T 211 A OEE § 42ﬁd1i%¢ﬁqaﬂtﬁﬁtﬁﬂ$ﬁﬁﬁm§-wgaﬁm
TE % A UHE | 99 S & ﬂﬁl"mﬂmﬁ?ﬁlmﬁ#ﬁﬁmaﬁmﬁwﬁ@a@ﬁﬁ'
In a survey of 140 students, 60 students like to play videq games, 70 students like 10 play indoor games,

and 75 students like to play outdoor games. J\tldilinmllly, 30 students like to play both indoor and outdoor

games, 14 like both video games and outdoor games, 42 play both video games and indoor games, and
ke mes of . . e ! oo ' ’ - i ]
B like all types of games. Use the Venn diagram 1o find the students who play only outdoor games.

it T T b T




35. ST A PngET i w31 Hi |

AT
mﬁmaﬁﬂﬁﬁ:ﬁamﬂm“ﬁmﬁ_ s placed?

Find the mirror image of the figur¢, if th

X <

(A)-

1

(C)

<1’J
@
<]
?
[ ]
e

(&)

Find the number of triangles in the figure.

\

2@

<
M 16 B) & ‘
N &) Q12 (D) 9
36.. Pt & i v mfeanst, mansi s sy ey "
Which of the following diagram/set indicates :h;: It;lulif;;;"b : (S E"] gﬁ'ﬁm ey I Eﬁl_iﬂ_l B0
H ¢iween women, mothers and parents ?
s
() @ ul'&:? @
(C)
or(
------------------------- A
GWZ-.24 At~
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1.

Uu;éy s PRy —— wm
Freafafaa ae & mew den £ ygam FifT |

Identify the incorrect number in the following series. roe
4,7,13,21,34 © 7 (D) 13
"(A) 21 . (B) 34 { ‘ '
: e qT IR & S 39 BE
2. R mwwﬁwﬁaﬁmwaﬁm%@?)%s 31 W U T E_}T”?('@ﬂ}
© VT (HHE) 1 FEan 2, A aftom srpry-EE d‘}-ﬁ' ) ST HTHR T 3
(A) ST (e By fam i Qstes) -y
o - 5 N ]
(©) TR T fﬂ(DJ O () e !
Il you have a regular icosahedron and you slice i{%lq‘rlg a plane that intersectsYix of 1\5 faces, what is the
shape of the resulting cross-section ? [] . -v%
(A) Rectangle : o24(B) Trapezoid -;&;5—& [
(C) Hexagon @)(D} Pentagon hgt '
2. mammm@@nﬁmﬁmﬁmﬁﬁﬂﬁﬂaﬁrﬁ?ﬂ?ﬁﬁ%rﬁﬂ&m e TR
Hefoa & N
(A) = (B) =& ) wut (D) &
Pointing towards Aneesh, a woman said, *His r%_t't‘lher is the only daughter of my mother.” How is the
woman related to Aneesh ? y
(A) Grandmother  (B) Daughter <Ji©) Mother (D) Sister
M. WWEM(1,2,3,4) STEMT-3AET S T & — T, @.%#ﬂwtﬁnﬁiﬁaﬁmﬂ%@nﬂﬁm
wﬁ’amaﬂaw%q%?ﬂmﬁﬁ#ﬂﬂaﬁﬁ'ﬂ%@w |ﬁnaxﬁsi%ﬂgﬁ%ﬂmﬁ%mﬁ%ﬁm&
TR a
HE BT §
e
-¥8,2 - 12 =Gl 4 — (D) |ﬁ€|ﬂ.2_ '3;1335'4._
Four people (1,2, 3, 4) each pick a different fryj ), 3
: o ) Pple, banana, cherry and date. The person who picked
P e g o P et o s i o e
€ 15 next ! %
The correct combination isr:? RIS PEtaon swho picked the date
(A) 1 -Banana, 2 - Cherry, 3 - Date, 4 - Apple - %
(C) 1-Apple,2- Banana, 3 - Date, 4 *Chc{“ry{} Eg: } :(B:;T;Eﬂ.zz“ BA&TI[:IL:; 33 -DS::‘;-:— C‘:. 1
oo ST 0X) % R TG o812 M st g o .
S Bt }
ut which of the figures can be formed from {f Pieces given in the first figure X).
e I el mar
> 8. -
0‘5 ——, | D P— e ———
(§))
(X)
X X
A ”‘4 (B)
AVAN (D)
GWzZ-24
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18,

39,

40,

il

2,

4,

™\

A

\ i |
<]
i

(A) 16 (B) 17 ”—_&9__2,,-9_3\553‘ 24 (D) 18%

Pres g 209362\ , N‘%%

: .
Choose the odd one out. Qﬁn’_—ﬂ% '7'2'5
(A) FG (B) QR K::JSI AZ (D) KL E:a 21>

v fafira oerfan o &t ad o forg 5% i 20 8 wrame # T 1,600 ¥ | 3 99 & 9% 90 W 9T Swgte = ul
(@1 =9 & Tt =T ¥ra )

The simple interest on a certain sum of money for two years at 5% is ¥ 1,600. Find the compound interest
at the same rate afier 3 years, interest compounded amﬂally

(A) 2,522 (B) ¥2.355 (Q)]T2.520 (D) 2,555 Q25
12-02-2022 & 11-02-2023 T 15% i @ i a3 % 73,000 e amvmor =0T 2+
The simple interest on % 73,000 at the rate of 15% per %Tum from 12-02-2022 to 11-02-2023 is -

U
L
g N

(A) 710,950 (B} T14,750 ( ’f 12,050 (D) % 13,450
2475 sif o 15%% B TG O S ot e R
What is the discount 01 a pair of shoes marked at t nd discounted at 15% ? \‘\ ;
(A) 772 (B) X723 ‘@z (D) T71.25
ALk 10% 1 g2 2 § A e aret e 1 s%wﬁzﬁaﬁmtmﬁ
WPaﬁﬁlqaltﬂﬂﬁﬁWﬂ'mﬁf]4 020 %1 VA= ?ﬁﬁﬁHWM§, S
allows @ discount of 10% on the ma Iu.{l rice of an item but charges a sales tax of 8% gn =~
A sh;}pkeupf:d price. [f the customer pays T 34,020 og !;u. price including the sales tax, then what i is the
the discountc
i (S)
marked price 7 (1) 38,000 (. ¢ 34,000 ©) .
’ L ' T 39,
- - l .
) “afit 2w A
afa x 3i l(xfm’””ﬂ“a'“?'m" i 5wl .
" W % and ;l( (x # 0) is m, then the twumg%ﬂ[": L
rerufc ¢ .
I the nve () "IIIJ il t(‘;’) | - h“z {D) znﬁ_,'
(AY 1=l aete e B TR i



WSﬂPﬁﬁﬁEﬁmﬁﬁ%wamnﬁmﬁamﬁﬁﬁ@ﬁw%ﬁ
1 FR S ? T Cg
(A) 399 (B) 440 & (C) 300 (D) 400

distribution of candidates who were enrolled for an exam and the

e exam in different institutes :
CANDIDATES w110 PASSED THE EXAM = 5700

The following pie charts represent the
candidates (out of those enrolled) who passed th

CANDIDATES ENROLLED = 8550

&
e

a1 number of candidates who passed from institutes S and P combined and
nrolled from institutes T and R comhined is :

The difference betweeh the tot

the total number ©f candidates €
@40 O (© 30 (D) 400

(A) 399 :
.GCRABBLE’ 1 +19318122125" ¥ wq 7 geas FRa S e, At It sy 3

o fifya w2 W9 af : -

STUNNED® 3 BT R o ABBLEY |

In 2 certain coded Janguage: if‘SCI{MlﬂLl;l is coded ns *19318122125°, how will ‘STUNNED" be coded

in that language 7

) jozozorarsds @ Jaan] ,g_d Cy192021 141454 (D) 192021141545

mﬁﬂm.’f_ﬂﬂﬁm' @)

Find the dissimilar pumbers:

(A) 49 (B) d?_'rﬂli. (C) 8,27 (D) 16,25
gttt cemagemm Tt e




14, faamy sy & wharr i o Breffas o w s AN
-Il =
O L3y St (Fraferm) @i
6
THEEAN > frmgam
17\ 7 <]
b VAN
8
firzs wr o= et Pt safer farferm 72 & 7]
(A) 16 @ 22 ol§ (C) 20 (D) 31
Examine the provided diagram and respond to the following question.
g O -——hw Employed people
6 A
11 [3 — Backward people
@ peer
17 \3| < A
A — Educated people
i P!
How many individuals considered backward are mot educated ?
(A) 16 . (B) 22 Ll © 20 (D) 31
15, ST HWFR? - 5
: 9 A
What is the next letter 7 "
P:Q::T:
(A) U (B) P O ©or (D) R
16, afz o zfgmrafim F s fe WE A3 € Efl_alﬂﬂ Fexft anf s wgt 8, it a7 a9 e fam S e 5
gz G _
(A) FHTim ] wr I
(C) =faw.afum 'y (D) =gy
If you stant facing South-West and turn Iﬂﬁgn-r:s to your right, what direction are you facing now 7
(A) Norh-West ol (B) North-East
(C)  South-West (8 (1) South-East = e
17, 140 Faenfda & adam & grn mm fr 60 framd difen im e gig g §, 70 Rl STECE SR wHe
ard ¥, w4 75 faardl sz AW G T F 2 ) 30 wfah 10 g RN 3 FTIZER T G6 THT E
18 1 a1 i STz M AT G TS ¥, 42 9 A i st gren 18 21 9 TR R, @98 F
TET F 9E T0Z § a9 11 & I EE 39 et ?rrdaﬁ‘pquai‘[?mﬂ Hmﬁﬁlil'ﬁtﬂﬁ'&ﬁt
In a survey ol 140 students, 60 students ke 10 play videq gamies, 70 students like w play indoor games,
and 75 students like 1o play outdoor games. Additionally, 30 sidents like to play both indoor and outdoor
pames, 18 Jike both video games and outdoor games, 42 play both video gumes and indoor games, and
& like all types of pames. Use the Venn diagram 1o find the students who play only outdoor games,
A . L | &4 . & (D 57
GWZ-24 Pagedof 24~ TTeTTeTTTTTTTTT s
7 —=
L | PP Qﬁ_ NG
AT *ﬁ% ) '
:-E. . _EL‘-.\ -




26.

o e U1 T 101 8 45 Ft s iy v s T () BT e e s ) rfeemeft SIEFE

(FT-HTTA) FT TR R 9
(A T (B) ¥fRmagem (C) wae™ (D) drfge

A cylinder is intersected by a plane jnclined at an angle of 45 degrees to its axis. What is the shape of the
resulting cross-section ?
(A) Circle (B) Hyperbola (C) Parabola (D) Ellipse
Ifz CAT #1 &1Z DBU 2, A DOGHF TR ? |
If the code for CAT is DBU, what is the code for DOG ? &Q“
(A) EOF @( EPH ,r-} (C) DPF (D) EPF Q}\I-TB
1
m‘grfztg! Eaisied <]
G IE R A0 SRR = SR ®) g
(A) S ®) afe q @ @), f Sy
Complete the analogy. : &\g.-
Glove : Hand : : Sock : ? {}
(A) Shoe (B) Amm D (C) Foot (D) Head
ol
siafrerart - Safer o ¢« A ; ?
(A) TEfEFEa (B) & SES Cr TE= (2} K \'
< i

Complete the analogy.

Astronaut : Spacecraft : : Diver: ? |
(A) Bicycle (B) Airplane 3 (C) Submarine (D) Car

3. 77 U RET A, B, C, D, E S F A, A fnfia sz &) puwm e @ s Ew fan ) FE R =t

- \J .- -
% i v fee 2| C wm e & ARA T frefg ) B R ) B, EF Brw v dEim R
(A) far (B) A (©) T (D) =t
milv of six members, A, B, C, D, E and-F, there are two married couples. D is a teacher and the
:':Ili':c?:‘tl']g ‘;-' iillh(-‘ grandmother of E and a héysewife. C is a lawyer and married to A. B is not a male.

How is B related to E? l:] .
(A) Father (B) Aunt o (C) Sister (D) Mother

af = T aw WA A it 78 B, o FHl s o v wn d 2

If the sum u[’[hrcc'cons:culivﬂ even numbers is 78, what is the second largest number ?
(A) 30 (B) 28 (C) 24 O 26

1% e, 31 0, 1 2,3, 4 FTHERT: A, B, C, D, E 710 21fa1 ST R | (B + E) - (D + A)] H1 51 31p

#afsu |

£

Kol ol :'- - 3

S ocardivi o 00 code, digits 0,1,2,3,4are l‘i;:rIjESLﬂwd by A, B, C, D, E respectively. Finahc value of
2

TR o Al
&EL (D + Al (B) 3 & (© 1 (D) 2 - @ %E
- - v ("'.

e & spef s A EA? 13 —Q_‘-\'\'\) R 29
What will be the next pumber in the series ? {} ~ _g g i \-\

3,6, 18,72, 360, - —— L1 l e
(A) 1260 ‘__,-.---[--] -------------- 0?-—(--]-.:'.'3':9 ____________ o 260

waTTR e © ORI 1 EA
ac

? b ,6,%),12,360 Q\GO ;‘2’ @R, ?‘ii

D yzyzvarSXe % L




I TT MClgher
(A) o e RG-S

T A g
Who heads & Upi sy (B) TSy s <]
6 A) TTmSh u“"""&"mH(;,.]-m_.‘,,k @ (]ﬁanqa
9,

A) ey \ Imi
Which of the fDlID“ i (B) Em
(A) T .

y on (B) W " u&%" I(a EQElcrat:Ifw
70. 1944 m%% ater pollyyig (©)

(C)  Temqe

Who was the

A o Sul': memarul‘RBI dUnnglhedcmu

(C) Chintamap Dwamkanath Dt‘shmukh U
71. mxfﬁnﬁﬁmqmahmmm%%ﬁ%wﬁ}ﬁﬁﬁ

(A) wmp (B) wmy (€) wmy

:‘-A’l}]ucl:;)par: [c;f the Indian CDI)lsllhlllﬁn deals W’l‘g‘l}‘ﬂ irective Principles of State POE‘EI‘I:!

et (B) Pany (©) Pan1y )
(D) Part1y

72, g "0 ATTE fmogz ﬁm;mﬁva‘lnﬁ we ¢

(A) ﬁfﬂ‘ﬁnﬂnﬂﬂ (B) i B e

(C) Hr2d aui E]

(D) SR s
The book “A Life Misspent” was Written by “}915'
(A)  Maithilisharan Gupt

) Suryakant Tripathi *Nigaly"
(C) Mahadevi Verma (D) Jawaharlal Nehry
73. W%ﬁmmwmmm
(A) AT F %10 fiet WeETa1 97 ST
)y e A 4 afeafa
(C)y o1& a4 ) kL : WJ]
(D) @y & syt g i & wamen a1 wfiy lft )
The muin reason for the blueness of the sky is
(A) the absorption of blue light due to the gir ]
(B) the scattening of white light {
. i 2
5 resence ol water vapou
e :::: :.]LL:Irrmp of sunlight by air mu!n.ul;-[ ]
(D)

(s 1}
GWZ-.24 _




h 2u AV
N’-J V2N
\ A V34,136, \3% ﬂﬂf -~
P\ A \2% V3o

i |
: g Py ST o FAC A
A, Ul O T H WS w7 aftery 132 8, et ot 3 e difference between the first and the last

: d
If ‘hc ﬂ\'tmgﬂ 'Jr 9 cnns‘cc“li‘-{: oven n“nlb{:rﬂ 15 Ij:u ﬁ'n

numbers,
(DY 16
(A) 15 B) I8 © 19 atv o & | 9w
4. et s v g 4 250, o g 3 o, qmsuﬁﬁr 1,200 % 6 feran = =mact
mnﬁ%mmtﬁmmm T . 7
ce for
\ *As a result of 25% hike in the rrnu: of rice per. kE, 8 porsot MBI o plachisc kg more r
—%5 ' ¥1.200. What was the original price of rice per kg ?
T () e (B) T60 b () T30 LR
46 0.05,0.5,0.25, 1.25 F1 Traw @aTadF (HCF) ‘Tﬁ‘l S, S
Find the HCF of 0.05, 0.5, 0.25, 1.25

= (A) 05 w025 @) (C) 0.05 (D) 125

o\\_#7. & U He W hifie fd 4, 6,7, 8 st o @ Hﬁq}ﬂa‘:ﬂ:ﬁwﬁmm3mil
—,  Find the smallest number which when divided by 4, 6, 7, 8 and Y leaves the remainder 3 in each case.
(A), 504 @) 510 @ (O 507 - (D) 501
48. uﬁmaﬁﬁmmt{amiﬁm%m Hatma d, @ o AT g 2
If the cost price of 30 tables is equal to the sellméfﬁnce of 40 tables, then what is the loss percentage 7
GA) 30% (B) 37.5% ©) ) 26% @g, 25%
S

49. wF oA A g R e 10 F 4 B 2@ ot sed @ oifis Rt 10§ S TR Eﬂﬂm%lmﬂz'{gm
T F9F T Fuar &) se:h e w ey v w29
19, it | oD _A
(A) Fl‘mﬁﬁmﬁlﬂ Y% "J (B) enf it 12% W\ﬂ ‘___r@[

2. g
%3\;?2‘ (C) zrhuﬁmrligl% ) (D) AwfraEm

? A fruit seller buys some oranges at the rate of 4 fol € 10 and an equal number more at 5 for T 10. Then he
sclls the whole lot at the rate of 9 for T 20. What js-}zis loss or gain percentage ?

’! (A) " Gain percent I!?-“. [_Qe .{&m 0 lq.. &L
ercent 12%
225 s — ) ARG pereent 12%

\o 19 \© —
(C)  Loss percent 1_ " 3:;!_;— ia_ﬁ:: {D] No loss or no gain L 2
50, ﬁfrﬂahrﬁqﬁamﬂ | s as. lﬂrmﬁmimgam 1 % 3  Tea a ) ol
2% ‘\t_fS fafi st fiq @t 1 o foveare mfecs s+ 10/gog b TRl o) e a7 |
;B"y din the i 5 3 and save in the mtio 4 : 1. Find the

Mikhl and Reetu carn mothe ratio 2 . They spe
monthly income of cach, if the total monthly M\ma\ of bu|
) 1 Nikhil cetu together 15 T 10,000,
_ 360 (A) T 10,0008 5000 (13} 8000, %4000 (- gl

: : U T2R.000, T 14,000 (D) T 2,000, 1,000
51, v gl A un i A wfuEan siE @ 200, gm 1t'm b

- }f 'ﬂftf-::'ﬁ:r T w1 30", I T H ag 3wl -ﬂ?ﬂ 20
ey 3m
; ufrma s 8 ¢

S= |n an examination, o student who gets 20% of lh[‘éutlmum I
"I‘?u ’6" seores Ve of the maximum marks, gets 20 my narks fails by § marks, Another student who

3 31 0 arged € S R 1 Uw 3w o W@
A s e @ 1 3l 8 fre samr

S5 (or passing Is ) ore than the passing marks. The percentage required
. WM e A SO s (©) 420, _
fﬁ’:’i}*ﬂ 2‘%,(; "-_‘ 1%) % l'u‘l“n!]] B LT q\*‘ua‘*-?--g-: ----------
3 ma




96. ?Iﬁqrﬂ'q?ﬂ?fm-qf:ﬁﬂﬁazaﬁm 0, 1 I ! TeRaa wree faan s 7
(A) T (B) zfeor-afem {p) Fwafim , (D) zfam
If West is replaced by South-West, then North wéhc replaced by : ot 2
(A) North-East (B) South-West ® (C) North-West ([]l;- South
97. A% 95474 F1 KGFIF fra sy 2 7 82143 ¥4 femr smom 2
195474 is written as KGFIF, then how will 82 1{1} be written ?
(A) JCDEF @V_[DCFE 0 (O ICDFE (D) JDCEF
98. a2 EXAMINATION 1 VCZNRMZGRLM 3 4 5 zarg Fre a1 2, @1 WRITTEN 1 Pt 7 329G
o s 2 : . ®
ITEXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(&) DIBGGVM (B) DIUGGMV (C) IDGRGMYV - (D) DIPGGMN ‘\/
} e a8 ; s
99. TR FH FEFWH 103 W AE TR | R omE e
In a class, Sambu is ranked 10" from the top 36" from the bottom. How many students are there in
the class ? <] o
(A) 47 (B) 44 @O 45 - (D43 3@
100. A, B 3 Cam sitwa 2 60 Freimm 2 ) afz-acn B 7 st 7o 30 Frei & 7 B 3ﬂTC&’-TGﬂ'HET
91 70 fremm 2, 61 B Fasm g 0 &
(A) 18 Frsimm (B) 20fFEmm (C) 17 et (D) 21 Frsimm __}_*E_. 26
The average weight of A, B and C is 60 kg. Ifg average weight of A and B is 30 kg and that of B and 1——_‘
C is 70 kg, then what is the weight of B ? @ . ‘S‘S—'
(A) 18kg ' @/lﬂkg (C) 17kg (D) 21 kg mg“:’ﬁﬁ_
s e . 2XT% = Qo
101, 40 T I O T E, 1501 fFFe e § ot 15 o eFm aed 8, s S oM S G Qe £ | AT & |
1% ofl G T Ue T O S Hen R H._Jor%c:
In a class of 40 students. 15 students play crickef and 15 students play tennis, and 5 siug'xb play bulh TJJ\‘ o
games. Then the number of students who play l'IE{Tcr of the two games is ¢
(A) 10 (B) 35 ® (C) 15 (D) 25 \Qé;:’
AN
102, UF =T F UF HIE 1 25% T G |12 7 g 350 o 3 e 3T T 732 o e w60
1 ST ETAT | FT2 7 7 e 1 910 C— \2o
A person sold a horse at a gain of 25%. Had IILF“LM it for 35% less and sold it for ® 732 less, he would NS
have made a profit of 36%. The cost price L'-I'tlu. F5e Wiy .ﬂ_ — \ =]
(A) T2.000 (B 1,800 @ (€ 2,500 (DY T1.500 e,
: C. &=
103, K, LAwhRsfm, LAamae) N KA, wafs o, MmAuid) o K & &1 ey & o ="
(A) T (B) = AdOr" (D) fir
:‘I]llph wife and M is L's sister. N is the daughter of K, while O is M*s mother. \W hat is the relation of O
(A) Father-in-law (1) Mother (C) Mother-in-law (D) I
2 CPagergaizd T :‘i - S
e
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59.

60.

61.

62.

TR 1 el €T 3Ty el o figa o1 7 ) 7 @79
(§) T () D) T (@)
(€) feeeh (
Where was India's first airport located ? ®) pombay (Mumbai)
(A) Calcutta (Kolkata) {adras (Chennai)
(C) Delhi © * -y
mﬁmﬁ%mm%@ﬁsﬂ?ﬁmaﬁqum (D) T20¥E
(A) T10T@ (B) Tsoem@ (©) cesin ndm,@»gewicm?
What is the threshold limit for GST registration for busine ks (D) %20 lakhs
(A) %10 lakhs (B) 50 lakhs (©) @
s e i S i e st < -
(A) Tz ® SR Ly
Which of India’s neighbouring country is known as the “Land ﬂfn“"‘EﬂDmgﬂ“ ?

- (A) Bangladesh (B) Bhutan (C) Nepal o (D) Myanmar
Sexmfo & b e s ® |
(A) TEgF B T (C) T (D) 3=E™
Which of the following is nef a Social Media Platform ?
(A) Facebook (B) Google (C) Twitter (D) Instagram

63.

65.

.....
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ey wel A afid @ s, dR R s @i S g ar s R
o et i waE e ¥ o P g

(A) e (B) Fffzm (C) VPN (D) o Fefm
uses images with malicious files in them, meant 1o help a hacker steal your account informatior
or infect your computer, _
(A) Smishing (B) Catfishing (€C) VPN {} (D) Image phishing
Fufzran moprsa 1 T Fr e S . :
(A) URZEN (B) AR © s
What is the capital of Republic of Croatia ? @ (D) Wfererent i
(A) Amsterdam (B) Dubrovnik (©) Zasests

. (D) Mexico City
mmﬁaﬂﬂ@mﬂmmﬁﬂﬂﬁﬁﬁwﬁm%

(A) g, A1 A1 Tl A R 0

(13)  de = 2 & ard G i qun aar g o

(C) e st w1 vifaa wa @ s G0 g

(n) dr syrdAard WAl e rrrﬂfﬂu’i:mnr;ﬂmqf q“mm:mr]g‘

In what ways does information sharing become Mpongy ; . Eﬂﬂm mqmwtl

(A) It strengthens the military's cupabilities, 'ehting h.QRnsm 9

(I4) It unproves relations with other countries,

(') lallows puthorities wadently potental threary More {.}

(D) I L![li:\:l-b_if'rt_tir_l!:t_tjf.iall-li'lflll"lt.ll_l‘:_It_}_L'U:.I_rl}fI] e altacy Quickly,

------- I ‘H;-I‘r;lfii- ¢ E.‘i‘}?‘:ﬂﬁ]_}i l‘h:rp‘ubh Sk‘f.‘lll'll}' ng(:‘[-'leif____.
g L A
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114, mﬁmmﬁmnﬁmﬁﬁmﬁmmm%%ﬁz
(A)  ~Afer wiearer qofean it g1 2
(B) i1 & s fareferen @ s 7
(€) RFmFgErmasagis []
(D) iew, e, et amfe mver e & i

115, mﬁ-ﬁuﬁzaﬁmﬂaﬁmhmﬁm&maﬁﬁ#:

(A) &% a1 3=m 6 | (B) 3am wirsi 1 farerfir i s

(C) egamavfmr-;ﬁﬁmqm#ﬁmmr (D) A S g A A S
6. T3 5153 3797 safren aflt atftaea F ufy T 2, T -

(A) =2 Hifma sitfes ot sr et 2 (B) S STentoraT W S s 2 |

(C) =3 $47 & ofe syremam T 2 (D) =% s Y faps

117, tmﬁﬁmﬂﬁmﬂﬁﬂﬂﬁﬁiﬁqﬁ‘iﬂf%ﬁ?: b
(A) <37 =1 waifor frg | (B) Tefien e apr sreomragiy
(C) a3 F1 e e fram | O :

V18, 5T S 1 e o A4S dwwwm e L B
(A) ezt gwit 71 frrfo w0
(C)  *fers. .t #01 Fatror e

119, mmﬁmmmmﬁﬁgﬁu
(A) FTHETET, S941 (B) wmr T

(C) &, &m
y ' ) =i,
120. ﬂm'ﬂazatﬁ:rqwhmduraaﬁﬁq: & S
() iz (1) & <] (©) T ©) e
121, Frafrfors i & v o s e . g § @ L
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122, fasfefom o @ am &, 7% FY 1 957 fifa {_3 AL
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1. Freferfen 5 8 e v 3 onr st e aw A B 0
Which of the following words has its letters in an alphabetical order 7
(A)  Adrops (B) Envelops (C) Bloops (D) Collops

Wp>q=p"+ @ FMp<q=p' -2 A1>2<3=
|rp>q=p:+q3andp<q=p3—q2,ihcntl‘#‘2}‘13"

[ ]

(A) 480 (B) 840 E'iC) 600 (D) 720
3. mﬁmmﬁmﬁmﬁmmm@mmémwmml
RK59#B2Y% ‘E"ARL$I4SV?'C6NC_ H13D ?,;{-Mgtﬁ;

g 7 anen 8, o d WE S fir v s s A s RE B

Examine the following sequence closely and re:.pmfﬂ to the question that follows.
RK39#B2% ‘E?ABLSMSV?'CﬁN@ 13D

How many letters arc there, each of which is inymediately preceded and immediately followed by a
symbaol 7

&)

(&)1 (B) 3 (€) 0 (D) 2
@ 95 #1934 36 7 Heifira @ form e somizm wEfa ¥

(A) FHJ (B) fowda (€) iy (D) T

Cunains are related to fabric in the same way as biﬁds are related to :

(A) Covers (B) Lifters .::]C} Cords (D) Slats
@ AT 1 ety w8, It e ma wan O

@) @ TE <o) afmma (D) TEERIY

Soap is related to Clean in the same way as Perfund@.is related to ;

(A) Freshness (B) Smell [IC) Sman (D) Neat

ol
6. Fev o weirst 8 fd a1 T gw, AT 2 R0 PR a5 A s e ?

Given the pattern in the provided combinations, how would you express the combination represented

by *1' @
AZ3B, CY6D, EXYF, ?
(A) 1VIS§) (B) NZ110 PG“PH (D) KXISL
T UF @ 15 s £ sicae @, R gea Rt 10 ey e 2, R dam and gear @ ol 1S e
qAATR | @ Dp'ﬂrtﬁ ﬁrf'nfm?‘fh" {]
1 10 (B) 18 izt :
(C) 15w (D) 20w )

A person walks 15 meters east, then wms left gl walks 10 meters, then tums left again and walks
IS meters. How far is he from the starting point ? (8)]

(Ay 10 meters (B3) 18 melers A
_____ (€ 15 meters \ Sy (D) 20 meters R T
GWyz.24 " 77777 mmmmemes \ Page 2 of 24
o
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Two types of rice rates are . ; ) ! z
of rate T 17/kg. Tl l-"kg and T zlxk%.}Fm{I the ratio of the two types of rice 10 obtal

(AY ki Or2:3 <] o 3:1 ) 2:1
U wemiEal wm: $0 Pefidz afy 1o Fmﬂ_mg}aﬁfmﬂﬂmﬁmﬁﬁaaaﬁﬁ sy 3t 71 e Al

Terr, i) mfr e e Yo i x5 v St A 16 he § AT @ )i i &y =rer et gt
TS e sy I,

| (A) 120 (B) 1237, [] © 170 (D) 124 1.

Two rmin.*.; travel in the same direction at 59 kabhr and 32 km/hr and the faster train passcs a man in the

slower train in 16 seconds. Find the length of thS¥aster train.

(A) 120m (B) 123 m (C) 170m (D) 124m

67 T et 39 10 T § 33 Wi sl g 1 A A & ) 37 500 65 rﬁaﬂ&ﬁzﬁﬁmﬂ%mﬁﬁgﬂ

n
L
H

n gemixiure

3§ = aren THa T fif | -
(A) BREFET (B) 458z {4 (C) 6.70%s (D) 5.59%% &5~
A 67 meters long train crosses a tunnel of length 33 meters in 10 seconds. Find the time for the train 1o & c{
cross a man standing on a platform of length 65 meters. .

--:.I.E'r"ﬁ“
(A) 8.8 seconds (B) 4.5 scconds %ﬁl (C) 6.7 seconds (D) 5.5 seconds \

s e 3 v fafea Fw 150 ferdt & v At % fere 200 afet 1 Frges foe | a2 50 AT A Faet vy
< mﬁmm_ﬁ{rmﬁmmﬁmmﬁgmmmmmmaﬁmw

2?

Indian Railways employed 200
work had been done in 50 days,
workers to be employed ?

o o o
workers to conlele a certain work in 150 days. If only one-fourth of the Y\
then to complete the whole work in time, what is the number of additional

(A) 600 () 21}1 (C) 100 (D) 300 \b
lz;ﬁﬂm‘knﬁaﬂﬁmﬂﬁwhﬁﬁ? '#J?gmaﬂt"lsnﬁaﬂmﬁmﬁlzﬁﬂﬁmm
£12f2 zym:@;:ﬁmﬂmmmmm i 8 1 & ey Pt qu R & 2
(a) 70f 60 f 4 () sofe (D) sofe
nd 18 women can do a work in 10 du@ 9 men wnd 18 women can do the same work in 12 days. ]
12 __.mfrf = nd 3 women together do the same mu[t} in how many days will they complete the work 7
1£2 men & (B) 60 days () B0 days D) 50 days
L s ' o \Se 20
17.5% £z 7 uE s fe @ i E,r]:ﬁ £ i 2
5% o (B) jo @ of () 129l (1 307 &
(A) B b time will an amount be doubled althe rute of 12.5% 7 VR
In !un: T::r-: (13 10 years (©) 12 years o 5 i
{.M —l ofy vt f00 ad 3 ot 1 7 € Q . erg, T 2
il pational (CONEIEss was founded in which year ‘kf’ 7 - ﬁ
The Indian (i 1947 () 1887 —
QY 1B cumeeee s o TS G R~ é

.I1 ‘*h}.:_-::l--- . - e M — \‘E::: Wl —_— d‘,!) \ Terer \ G ) *:.ﬁ
| N 3 = \gb 3= \
V= T w—\o 36 *“??—Y\h

s U M =AY
U o




71 77 98 9T Fore Wiy 3 fyfoy it (g T ) 1 gt @, s fmio e odrgeedh
. . : et = 11
AR & 0 v oy e @ R

11,486

b
@Mﬁq&eﬁmmm%mﬁum@m%mﬂmmmm%maqﬁ:m:o%

mmmﬁgmﬁﬁ@@ﬁtﬁwm&ﬁmﬁﬂmm?
(A) T 55008 <] (B) %5254 13

(C) T5892FS o © T 4845 TS
The given pie chart illustrates the various spurces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phas Projects.

®)

External Assistange
11,486

Market Borrowing

Annuity
6000

(1)

To support the project with T 4910 crores through toll collection by an outsourced agency, allowing for a

maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect 7
(A) T 5500 crores

(C) T 5892 crores

() T 5254 crores
(1) 4845 crores
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